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2R | e Sk | BE | G SB[ wmE | pE | mE | EH D
30100 W A 132 12, 906 140 108 59 | B 1324
Y3002 | =4 (447 4 3,186 1, 620 486 486 | B 4kg
31100 H3¥E 10 1,728 1,728 1,728 1,728 BA 114
31200 (LH3E 10 2, 592 54 54 49 | BN 505
Y3015 |7 & 3 832 76 76 6| BH 1%
31700  F ¢~ 40 7,236 1,944 1,944 1,674 | B 41l
31800 19 ALAEE 12 5,551 108 108 65 | BN 593
31900 B X 8 6, 696 1,080 756 756 | BP9 8kg
35220 & M0 ST 0 130 324 324 324 | BN Okg
Y3033  ZEHA4T 280 31,914 270 86 86 | BN 280kg |
Y3033 ZHRAL A 133 35,910 270 270 270 | BN ' 133kg B
36200 &% 40 7,776 194 194 194| B | 40kg
Y3044 ELEE () 30 2,592 86 86 86 | BN 30kg
37200 L x 9 M 6 1,728 324 270 270 | BN bkg ]
33410 H=—L % X 1 454 | 65 65 65 | BN 71®
38100 |4 L\ =i 2 3,456| 1,728 1,728 1,728 BN 2kg
Y3030 ¥AEAE (F) 2 2, 160 1,080 1, 080 1,080 | BN 2kg
31500 /MASE 2 270 32 32 22 | BN 103 |
41390 1EAMA 25 4, 860 972 972 972 | BN E A
46108 EAMIONE 17 20, 077 | 378 356 324 | BN 585y
49100 ANFF 21 2,430 972 972 486 | B 3K N
71011 A7 L —%3 14, 256 238 238 238 | BN 603
71150 LT 1,512 76 76 76 | BN 203
53456 7= 7Rl 5 2,284 508 508 508 | BN 5kg
30100 VW A 100 9, 828 119 119 70 | EIRS 10074
30300 A% 110 14,040 1,512 1, 080 1, 080 | E I 114 — %
31100 B3 360 25,920 1,080 1, 080 1,080 | FEIR & W —2 |
31200 LiEE3E 4 1,512 76 76 76 BB 2043 |
33500 VT ¥ 1 648 54 54 54 |t 1248
33810 HIEHE 4 2, 160 108 108 108 | FEIR 2048
31700 ¥ v 200 24,624 1, 404 1,188 1,188 | B & 204 — A
31730 7V —1K— 20 1,512 756 756 756 | FE IR B 24—
31800 FHNAE 12 6, 696 119 108 108 | EEIR & 6043
31950 Hhax 15 4,104 972 756 756 | H[E 54—
31900 ¥ 10 9, 504 540 540 324 |EIR B 2038 (500g)
31930 ~h¥ 3 3,240 108 108 108 |18 304
32800 125 5,184 5, 184 5,184 5, 184 | 'E & 17—
34300 72 30 11,016 1,944 1,944 1,728 HEA 64— R
34400 k= b 16 11,124 2,916 2,916 2,376 | REAR 4r — R
34460 =& F Lk 5 4,406 184 184 184 B & 2489 7
34100  #IK 45 15,876  1,836| 1,728 1, 728 | ' I 9 —=




&% | LE , RO =8
a— R 4 Ltk | PER (kg) 44 (M) =l | hE | wE | E (BAL)
34100 #A/I L 15 6, 480 2, 160 2, 160 2,160 |FER B 34—
34520 FRE—~ ' L 2 1,728 1,728 1,728 1,728 | K% 17—
36200 [E4E 140 25, 596 2,160 1,728 1,188 |EEIRE 144 — =%
36210 A—2 A (&) R 50 8,100 1,620 1,620 1,620 EIRE 54— A
36600 7mENE 2L 120 11,988 2,160 1, 944 1, 836 | dtyfE 64— A
37200 L x9N 2L 8 1,512 756 756 756 HiE 24— A
33400 L& =% 6 1,814 151 151 151 | Rl 128
38100 A LWzt 16 12, 744 97 65 65 | = I 160/%y 7
31310 AT 8 4, 320 108 108 108 |EEVE B 4045
31500 /MEAZE 12 6,912 119 119 108 | LR 604
32500 AoiE 1 972 86 86 65 |BEIRE 12751
37560 FBIT 1 2,592 432 432 432 | K4y 6,3 7
38400 ZDEH 15 5, 454 43 43 27 |BEIR B 15048
38521 SR LOHUE 3 1,620 54 54 54 | & il 304%
40100 FA 190 11, 621 1,404 270 270 | K& 194 — 2
41410 LE 15 9,612 9,612 9,612 9,612|7AUH 1 —A
Y4017 H 5T 50 11, 880 2, 700 2, 160 2,160 | £ EF 54 — A
43610 BHMNX 45 9,612 1,188 1,188 864 | & [ 94— 2
46108 = AMEDNEE 10 6,718 238 238 140 | 348y
49100 34 180 7, 452 1, 620 324 324| 7 4 VY 164 —R
Y5009 {E# AT KR 20 7,236 432 432 292 |FEIRE 20kg
& 2,630 479,893 |
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